
ERRATA for 
FE Industrial Practice Exam 1 

 Errata posted 7-22-2015 

 
 

Revisions are shown in red. 

 

Question 44: 

 

The table should read: 

 

X  R  

15.7 3.6 

18.3 4.7 

17.6 4.2 

16.2 3.8 

17.7 4.6 

17.5 3.9 

  

  

THE CORRECT ANSWER IS: (B) 

 

 
Previously posted errata continued on next page. 

 

 

 



ERRATA for 
FE Industrial Practice Exam 1 

 Errata posted 7-14-2015 

 
 

Revisions are shown in red. 

 

Question 31: 

 

The figure should be shown as follows: 

 

 
 

THE CORRECT ANSWER IS: (A) 


